






BENTLEY

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

4 info@riw.com.tr



BENTLEY

BENTAYGA 4V1 2015 - 

Image Product Code and Description Details OEM

AU2029

TIE ROD END RH
Weight : 0,890 kg  / 1.962 lb
Length : 221 mm  / 8.70 inch

4M0423812B, 4M0423812D

AU2030

TIE ROD END LH
Weight : 0,890 kg  / 1.962 lb
Length : 221 mm  / 8.70 inch

4M0423811B, 4M0423811D

AU4031

LINK STABILIZER FRONT

Weight : 0,201 kg  / 0.443 lb
Material Type : Aluminum
Length : 170 mm  / 6.69 inch

4G0411317A, 4G0411317C
4M0411317

AU5075

TRACK CONTROL ARM FRONT
UPPER REARWARD RH

Material Type : Aluminum
4M0407510B, 4M0407510C

80A407510A

AU5076

TRACK CONTROL ARM FRONT
UPPER REARWARD LH

Material Type : Aluminum
4M0407509B, 4M0407509C

80A407509A

AU5077

TRACK CONTROL ARM FRONT
UPPER FORWARD RH

Material Type : Aluminum
4M0407506B, 4M0407506C

80A407506A

AU5078

TRACK CONTROL ARM FRONT
UPPER FORWARD LH

Material Type : Aluminum
4M0407505B, 4M0407505C

80A407505A

AU5081

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER REARWARD RH

Weight : 3,143 kg  / 6.929 lb
4M0407694C, 4M0407694D
4M0407694E, 95840769400

AU5082

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER REARWARD LH

Weight : 3,143 kg  / 6.929 lb
4M0407693C, 4M0407693D
4M0407693E, 95840769300

AU9022

CONTROL ARM REAR LOWER
REARWARD

Weight : 1,322 kg  / 2.915 lb
Material Type : Aluminum

4M0501529L

AU9029

CONTROL ARM REAR LOWER
REARWARD

Weight : 0,811 kg  / 1.788 lb
Material Type : Aluminum

4M0505323G

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

5 info@riw.com.tr



BENTLEY

BENTAYGA 4V1 2015 - 

Image Product Code and Description Details OEM

AU11043

BUSH FOR CONTROL ARM LOWER
CENTER BIG

Chassis (Front / Rear) : Front
Position : Lower Center Left And Right
Weight : 0,1 kg  / 0.220 lb

4E0407181B

AU11071

BUSH FOR CONTROL ARM REAR
LOWER

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,250 kg  / 0.551 lb

4M0501529L*, 4M0501529N*
4M0501530N*

AU11072

BUSH FOR CONTROL ARM REAR
LOWER

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,250 kg  / 0.551 lb

4M0501529L*, 4M0501529N*
4M0501530N*

AU11073

BUSH FOR CONTROL ARM FRONT
UPPER

Chassis (Front / Rear) : Front
Position : Upper
Weight : 0,620 kg  / 1.367 lb

4M0407693C, 4M0407693D
4M0407693E, 4M0407694C
4M0407694D, 4M0407694E
95840769300, 95840769400

CONTINENTAL 2018 - 

Image Product Code and Description Details OEM

PO2003

TIE ROD END RH
Weight : 0,575 kg  / 1.268 lb
Length : 224 mm  / 8.82 inch

971423812B

PO2004

TIE ROD END LH
Weight : 0,575 kg  / 1.268 lb
Length : 224 mm  / 8.82 inch

971423811B

PO3004

AXIAL JOINT
Weight : 0,565 kg  / 1.246 lb
Length : 221 mm  / 8.70 inch

971423810

CONTINENTAL AD 2005 - 2017

Image Product Code and Description Details OEM

AU1020

BALL JOINT FRONT LOWER Weight : 0,141 kg  / 0.311 lb
4E0501529C, 4E0501529D*
4E0501529D, 4E0501529G*

4E0501529G

AU2218

TIE ROD END

Weight : 0,654 kg  / 1.442 lb
Length : 161 mm  / 6.34 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M8X1,25
Ball Pin Cone Diameter : Ø23

4E0419811B, 4E0419811C
4E0419811D, 4E0419811E

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

6 info@riw.com.tr



BENTLEY

CONTINENTAL AD 2005 - 2017

Image Product Code and Description Details OEM

AU3011

AXIAL JOINT

Length : 130 mm  / 5.12 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

4E0419821A, 4F0419882
8E0419821, 8E0422801B
8E0422821, 8E0422821C

8E0422822

AU4036

LINK STABILIZER REAR

Weight : 0,227 kg  / 0.500 lb
Material Type : Metal
Length : 94 mm  / 3.70 inch

4E0505465G

AU5024

TRACK CONTROL ARM FRONT
LOWER RH

Material Type : Aluminum
4E0407694C, 4E0407694F

4E0407696B

AU5025

TRACK CONTROL ARM FRONT
LOWER LH

Material Type : Aluminum
4E0407693C, 4E0407693F

4E0407695B

AU5026

TRACK CONTROL ARM FRONT
LOWER

Material Type : Aluminum
4E0407151G, 4E0407151L

4E0407155C

AU5055

CONTROL ARM REAR LOWER Material Type : Aluminum 4E0501529D, 4E0501529G

AU11042

BUSH FOR TRACK CONTROL ARM
REAR LOWER

Position : Lower Left And Right
Weight : 0,16 kg  / 0.353 lb

4E0407182C

AU11043

BUSH FOR CONTROL ARM LOWER
CENTER BIG

Chassis (Front / Rear) : Front
Position : Lower Center Left And Right
Weight : 0,1 kg  / 0.220 lb

4E0407181B

AU11044

BUSH FOR TRACK CONTROL ARM
LOWER CENTER BIG

Position : Lower Center Left And Right
Weight : 0,1 kg  / 0.220 lb

4E0407183B

AU11059

BUSH FOR CONTROL ARM REAR
LOWER

Chassis (Front / Rear) : Rear
Position : Lower Left And Right
Weight : 0,127 kg  / 0.280 lb

4E0501529D*, 4E0501529D-P
4E0501529G*, 4E0501529G-P

Part of 4E0501529D, Part of
4E0501529G

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

7 info@riw.com.tr



BENTLEY

FLYING SPUR 2005 - 2013

Image Product Code and Description Details OEM

AU1020

BALL JOINT FRONT LOWER Weight : 0,141 kg  / 0.311 lb
4E0501529C, 4E0501529D*
4E0501529D, 4E0501529G*

4E0501529G

AU2218

TIE ROD END

Weight : 0,654 kg  / 1.442 lb
Length : 161 mm  / 6.34 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M8X1,25
Ball Pin Cone Diameter : Ø23

4E0419811B, 4E0419811C
4E0419811D, 4E0419811E

AU3011

AXIAL JOINT

Length : 130 mm  / 5.12 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M14X1,5

4E0419821A, 4F0419882
8E0419821, 8E0422801B
8E0422821, 8E0422821C

8E0422822

AU4036

LINK STABILIZER REAR

Weight : 0,227 kg  / 0.500 lb
Material Type : Metal
Length : 94 mm  / 3.70 inch

4E0505465G

AU5024

TRACK CONTROL ARM FRONT
LOWER RH

Material Type : Aluminum
4E0407694C, 4E0407694F

4E0407696B

AU5025

TRACK CONTROL ARM FRONT
LOWER LH

Material Type : Aluminum
4E0407693C, 4E0407693F

4E0407695B

AU5026

TRACK CONTROL ARM FRONT
LOWER

Material Type : Aluminum
4E0407151G, 4E0407151L

4E0407155C

AU5055

CONTROL ARM REAR LOWER Material Type : Aluminum 4E0501529D, 4E0501529G

AU11042

BUSH FOR TRACK CONTROL ARM
REAR LOWER

Position : Lower Left And Right
Weight : 0,16 kg  / 0.353 lb

4E0407182C

AU11043

BUSH FOR CONTROL ARM LOWER
CENTER BIG

Chassis (Front / Rear) : Front
Position : Lower Center Left And Right
Weight : 0,1 kg  / 0.220 lb

4E0407181B

AU11044

BUSH FOR TRACK CONTROL ARM
LOWER CENTER BIG

Position : Lower Center Left And Right
Weight : 0,1 kg  / 0.220 lb

4E0407183B

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

8 info@riw.com.tr



BENTLEY

FLYING SPUR 2005 - 2013

Image Product Code and Description Details OEM

AU11059

BUSH FOR CONTROL ARM REAR
LOWER

Chassis (Front / Rear) : Rear
Position : Lower Left And Right
Weight : 0,127 kg  / 0.280 lb

4E0501529D*, 4E0501529D-P
4E0501529G*, 4E0501529G-P

Part of 4E0501529D, Part of
4E0501529G

FLYING SPUR 2013 - 2019

Image Product Code and Description Details OEM

AU4036

LINK STABILIZER REAR

Weight : 0,227 kg  / 0.500 lb
Material Type : Metal
Length : 94 mm  / 3.70 inch

4E0505465G

FLYING SPUR 2019 - 

Image Product Code and Description Details OEM

PO2003

TIE ROD END RH
Weight : 0,575 kg  / 1.268 lb
Length : 224 mm  / 8.82 inch

971423812B

PO2004

TIE ROD END LH
Weight : 0,575 kg  / 1.268 lb
Length : 224 mm  / 8.82 inch

971423811B

PO3004

AXIAL JOINT
Weight : 0,565 kg  / 1.246 lb
Length : 221 mm  / 8.70 inch

971423810

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

9 info@riw.com.tr




